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1.784 5 A Taverage.c] DYV —2R
/*

program  : average.c

comments : #E&(linkaged)ZHAWT, Fi5 - ZE2 KD,
*/

#include <stdio.h>
int score[10]={3,5,8,9,10,6,7,9,8,3};

int mainQ) {
int i
float ave = 0.0, dif;

for(i=0; i<10@; i++) ave = ave + (float)score[i];
ave = ave / 10.0;
printf("ave = %¥3.1f\n",ave);

for(i=0; i<10; i++) {

dif = score[i] - ave;

printf("score[%02d]=%2d Difference from average = %4.1f\n",i,score[i],dif);
3

return(0);

2.average.cDRITHER
[softbank220057168077:~/prog/report4] ib@6@3% ./average

ave = 6.8

score[@@]= 3 Difference from average = -3.8
score[@1]= 5 Difference from average = -1.8
score[@2]= 8 Difference from average = 1.2
score[@3]= 9 Difference from average = 2.2
score[@4]=10 Difference from average = 3.2
score[@5]= 6 Difference from average = -0.8
score[@6]= 7 Difference from average = 0.2
score[@7]= 9 Difference from average = 2.2
score[@8]= 8 Difference from average = 1.2
score[@9]= 3 Difference from average = -3.8

TO5SAZUTOLD GBAMOEREMMICT 74 IV ENT. AELAEEETSTO5
SAEERE L.
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float |get_ave AV EHEEKRDHDIRT Tl

void |print_date |ECFIDRF. FHE |1 DDT—F EFHEDEERDIRTR VgD
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ave.cDV —2X

/*
Program . ave.c
Student-ID : @65745A
Autor : NAKASONE, Tomoya
UpDate 1 2006/06/07(Wed)
Comment : heikin

*/

float get_ave();
void print_date();

int score[10]={52,23,37,61,89,12,95,40,76,2};
int main(Q) {

int 1i;

float ave;

ave = get_ave();

for(i=0; i<1@; i++)

print_date(i, ave);

return(0);

get_ave.cDV —RX

#include <stdio.h>

extern score[10];

float get_ave() {

int 1i;

float ave = 0.0;

for(i=0; i<1@; i++) ave = ave + (float)score[i];
ave = ave / 10.0;

printf("ave = %3.1f¥n", ave);

return(ave);

print_date.cDV—RX
#include <stdio.h>

extern score[10];

void print_date(int i, float ave) {
float dif;

dif = score[i] - ave;
printf("score[%02d]=%2d Differense from average = %5.1f",i ,score[i], dif);




if (-40.0 <= dif 8& dif <= -20.1){

printf(" F><A - - - Z > 4oD\n");
}else if(-20.0 <= dif && dif <= -0.1) {

printf(" HEPL S0\,
}else if(0.0 <= dif && dif <= 19.9) {

printf(" E»E» Z > UB\n");
}else if(20.0 <= dif && dif <= 39.9) {

printf(" R TLV! 272\ DK
}else if(40.0 <= dif) {

printf(" F|ESLIV! ! Z>o5\n");
}else {

printf(" HELTSZX S F\n");

}

NSEEFELEDHTAUNAINT B=0DMakefile®E DL B

Makefile®D Y — R
#

# ave.c DAVI/ISMILE&ERIFTD=HD Makefile
#

ave: ave.o get_ave.o print_date.o
cc -o ave ave.o get_ave.o print_date.o

ave.o: ave.cC
CC -C ave.cC

get_ave.o: get_ave.c
cc -c get_ave.c

print_date.o: print_date.c
cC -c print_date.c

Makefile TMD A /A )b

[1b0603-no-ibook-g4:~/prog/report4] ib0603% make -f Makefile
cc -c ave.c

cc -c get_ave.c

cc -c print_date.c

cc -0 ave ave.o get_ave.o print_date.o

ave.cDRITHR
[1b0603-no-ibook-g4:~/prog/reportd] ib060@3% ./ave
ave = 48.7

score[@0]=52 Differense from average = 3.3 5 E»
score[@1]=23 Differense from average = -25.7 RKR><A + + :
score[02]=37 Differense from average = -11.7 H &AL
score[@3]=61 Differense from average = 12.3 5 X %
score[@4]=89 Differense from average = 40.3 ZREESLV! !
score[@5]=12 Differense from average = -36.7 RK><A + + :
score[06]=95 Differense from average = 46.3 Z&EESLIV! !
score[@7]=40 Differense from average = -8.7 H&E4L
score[@8]=76 Differense from average = 27.3 A J(\!
score[@9]= 2 Differense from average = -46.7 HEBEL T X

>UB
>>0D
S>oC
>UB
>>0s
>>0D
>>0s
S>oC
SUUA
SUUF
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